Geometry' Lo Name: ;&U{

1™ Semesfer Review

1. State the converse inverse and contrapositive of the following statement:
: “If mLR is acute, then m<R is less than 90°.”
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:"Contraposnlve jFP’ m‘iﬁ (S st {éf = iﬁ‘% B A W i adacdte.

o '; 52 What is thc appropr1ate conjecture based on the glven if... then statement?
: leen If today is Monday, then tomorrow is Tuesday. Today is Monday.
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0. Find them.-x .
35°

7.. The perlmeter of AF ED.i

5 54. By solving for x, determine whether AFED is scalene,

[ w2 N e
Lfﬁ»ﬂl"‘z@ 5/

5 D

B 7 10 12 \}@S .c’? -{?ﬂiuffwm uf }@"Lf&iﬁ @f“{?

c 8 12 20 we gl lé “’"%iw ___C,*W‘“‘f‘"" be > ﬁe,}

. .9 leen 4B ,::’D and BD bisects AE atC. By what method isAACB = AECD?

10 Fmd the sum of the interior angles ofa heptagon no

54/ = l{g‘:’ &1 “"?> fc%@
55‘5{ 9 -2} T @
11 For school Jim must choose e1ther a yellow sh1rt (Y), red shirt (R), or an orange shirt
- (O) and jeans (I} or shorts (S) L1s1: the outcome set of the outfits he could choose.
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12. Determine whether each situation involves a permutation or a combination.

A. 6 books selected {from a group of 15 Combiraoam / ae] e doe 5t wadles ,3

B. arrangement of 6 CD’son a éhelf. fMM"%Q»\ (f ew%aw @ﬂm{»{@ g4 )

13. Jane has 4 kinds of lettuce groWing in her garden. How many different salads can
she make using 2 of the types of lettuce? C’a«»@é}’a obaoie 2 %&5 ¥

— -
- ot IV (n—r)! Z’(l z‘) 2‘2/;2;2&#“ Pt
3 =
T : ..("‘i e [ % ‘1 _ ::{Q
FE B Paula has 5 different mlx-ms o add_ to her 1ce cream. How_r_nany different ice cream ' ~
i :.combos §ag ‘she malg if she want?_B tgppmgs on ég?h? 5 \' oS Z Red L Emz : ,(f m?

ér § Quw%m ﬁfﬁoc el e / J“{'ﬁﬁi

= s 15 Whlch of the followmg algorlthms are equlvalent'?

I j___f :leen two lines, draw a transversal. If the alternate interior angles are equal,
| o then you have the answer you are lookmg for. / (e ere /6‘ “ [ y
R | ER Given two hnes compare their slopes If they are equal, then you have the
L answer you are 100kmg for. [ies e / aallef
UL Given two lines, compare their slopes. If they are negative reciprocals, then

you have the answer you_ are lookmg for. [M_ ) ade 6, o , ool cfonn
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17. Inthe d"iagram, name a pair of congruent angles.
A

LAQ@ LEW
_(—AC) ng

18. What 1s the complement of 37°7 What is the supplement of 37°7

Complcment ﬁcdﬂﬂ% 757
) |

B

iﬁé

19, Find them

L4

A

e Feiben e,
el IR 3({{3_{,’3‘
Texese —_—

: X«f{" (?QD ;

Supplement: Mg&{fw«,‘i (£

20 leen ZRST = ZQST and RS = 0S . Which postulate can be used to prove that

“ASTR = ASTQ 7

21 Fmd the sum of the measures of the extenor angles of an octagon

@ ( Se =060

IfAB 15and AC =31, ﬁndBC {
15 17?:7 _ =13

B C
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D, whose measure is equa

23. What symbol is used to indicate the following:

A, two 'li._ne segment are parallel [ {

B. 'tv\:_)o,l_i_rié' segients a perpendicular _,L

. C.'two line segments are congruent -

'_ 24 What W@rd;ﬁd_éscribes anangle

Al Wh_t}_Se measure is greater than 0° and less than 90° @A c"“‘(’f"@“

B. whose measure is equal to 90° N ghd

T

- . . - . J\-=‘-|
C. - whose measure is greater than 90° arid less than 180°__ @&-’4 e

25 Identlfy the hypothems and.‘conclusmn of th1s condltlonal statement: “If two lines
' :meet to form non—aoﬁacem non—overlappmg angles then they form vertical angles.”

: : s
A hypothesm ‘%wa m::; %«z«w fe“‘fﬂar@; Han = Mssfgm

4

L\w\ - a\f@f{ﬁﬁ ety |

B. conclusion: . _“”}'?@q *{‘mm k;gy%?fﬁf v Y
.. : iy 3 ! R

26.;2' The measures of two angIcs of a trlangle are 43° and 56°. What is the measure of

the thlrd angle? \f“g ‘:f‘:(i; 5
ﬁmﬂ*’?\ . mi;wjiﬁ l s

27. The measure of a base angie of an isosceles triangle is 57°. What is the measure of

- the:_\_(ertex angle? ..o J g~} f?é
® / &
| I Ty $>
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28. Find the value of x. ?Y-M A 22

-

7 I ——
A

b - i
29. mATUV , mZT =4x+6, m2U =x— 5,andmZV =3x+19. List the angle from
largest to smallest.
PR TS
| ‘mw% -5 m {& LT ,@ 5 \
- Bxkee EENE [hars
Brades 0 RO TR ST
X22D

4 1> m 43

R 31 Deﬁne the folIowmg terms:.

A Altltude éﬁwﬁmj (l:@m wart Gry W-L«“’7L’~‘3 Qﬁf e ﬁ’;ﬂ@ o

B Median _Segwart fion_ve f“?w% wmidpte © opp o,

C Pe’rpendi'cular blsector- [ Z V‘ea wL- ’“;‘9 S 3"”*’“‘“5%0 ﬂt(h re Wf/\ W”p/ﬂ%

g 32 If /_’EIF AFIG then what IS the best descnptlon of IF? _ A 7 La ,;f 7 E‘%’»&

F e s, -

33 If mAABD 35° and mAABC = 120° find m£DBC.

fg@

v
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_ 35 Refer to the ﬁgure at the right to answer the followmg questions.

A, Which two pairs of angles are same s1d§h interior angles?

ly L2,
B Whlch two pairs of anglcs are altcméte interior angles?

é‘ii &5 gﬁf? & ?

' C Which four pa1rs of anglcs are: correspondmg angles‘? g

_:-"’g;;;{f:;"ff.__.. -f;ig;_i»a_ é? g‘i,é g:gr g:;

D thch four pa}rs of angles are vertlcal angles‘?

égw ,,;:z;;i%a st m"m

3. Gi’\}eniq/'/'b;fFinde.

JL_

a

' 37 Ifalfband ms9=4x+12 :_arid' mLS=6x - 4, then find the value of x.

Y = by

"
;_3;;3
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th= A
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N
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38. Given that AB= DE and ZA = #D. Name one additional pair of corresponding

parts that needs to be congruent in order to prove AABC = ADEF by SAS.

, B A~
PR AT~ v F

L S
o r".”f’

. __,,5'{‘5‘-5!

AN -sﬁ’. 01%\?) é/,( {,&(As e
4L WXZYlsarhombus IfXZ =15, then find OZ .

w ST

42. Given: parallelogram ABCD as marked. Find BC.

A 12, D
!
-
B R fo
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43. Fill in the blanks for the characteristics of a rhombus.

A. The sides of the thombus are (T fﬂf“&uy{”

P i I ! i
B. The diagonals of the rhombus are _ e~ fersli f»%é‘_;ﬁtv’ ' and Pidegion
' [

s
44. Given parallelogram LOVE, mZ0 =9x—15andmZE=4x+ ﬁ, . FindmZV .

Yypas AT
Fxe 73

H T

46. Fiilz m the blank:s for the characteristics of an isosceles trapezoid.

The diagonals are Qﬁ?ﬂ‘\ji"‘m«m\ !

The bases are g@aé‘%ﬁ@{{

The legs are Co g Mw“‘t‘”

S A% B

The base angles are f@é&?mgﬁ%

47, IF ABCDis a trapezoid with bases of 6 and 12, what is the measure of its median?

bt . B =
r - £
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48. Find the slope of a line passing through (-3, 7) and (5, -9).

Yooy BT e o
g::?f; B I 1 R

W

" 49, Graph the line with a slope of 2 passing through point R(0,-5).

F 3

4
[

o

g : What is the slope of the line perpendicular to a line with slope% ?
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Geometry 1% Semester
Open-ended Review — Key

1. If m£R s less than 90°, then ZR is acute.

If ZRis not acute, then m./R is not Iess than 90°
If mZRis not less than 90°, then ZR |s not acute
2. Tomorrow is Tuesday

U 3.49,9,ete.
Ay

s mA=68
6 s 50" :

7'_,_- Eqmlateral _

.A no, B yes,C No

17, ZACB= ZECDor/ACD = ZICB
Complement 53°, Supp!em'e'r_\'t':__l.{IS“_
e s
. 360°

21. 360

22. BC=16
23.A.// B. L C = _
24. A. acute B. right C. obtuse 'D. straight

25. A. two lines meet to form ndn—adjacent non-

overlapping angles.
B. they form vertical angles.
26. 81°

¢ 27. 66°

28. 55°
29. LT > 2V >ZU
30. C

31. A. Asegment from a vertex L to the
opposite side,

B. A ségment from a vertex to the midpoint of
the opposite side,

C. Aline 1 to aside of a triangle passing through
the midpoint

o32 IF is an angle bisector
'”-___":;133 85° i :

336 '
: ':35 A Lhand 28, Z3and 25

B LBandLS 44and/_/5
e LlandAS Z3and 26,/ 2and 28, L 4and /7
: .D.,L’Iandzjél,LZandéS,ASandA?,A(iandiS

36. 32°
37. x=8

38. AC=DF
39.x=3

40. opposite sides //, opposite sides =
diagonals =
angles

41, OZ=7.5

42, BC=12

43, A. congruent, B. Perpendicular & Z bisectors
44, 159° |

45. 45° |

46.A.2,B.//.C. =,D. 2

47. 9

48, -2

49, graph

50, 2L

, diagonals bisect each other 4 rlght _




Geometry Name:

1 Semester Review

1. State the converse, inverse and contrapositive of the following statement:
“If mZR is acute, then mR is less than 90°.”

Converse:

Inverse:

Contrapositive:

2. What is the appropriate conjecture based on the given if...then statement?
Given: If today is Monday, then tomorrow is Tuesday. Today is Monday.

3. Find a counterexample for the following conjecture.
Conjecture: All perfect squares are even numbers.

»

4. Find the coordinates of A ,.the.'rﬁidboint of AB.. A('.z .4) !
TN
) ™~

-
>

B(10, -6)

5.fa//b, mdl=4x+12, andms2 =9x 58, the find mA1.
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6. Find the m/x .

7. The perimeter of AFED is 54. By solving for x, determine whether AFED is scalene,
isosceles, or equilateral. F

8. Which three 'l'ehgt_h_s céﬁI'.d'f(')rm.a.triangle‘? Explain why.

A G615

B. 7,10,12

C. 812,20

9. Given ZB= /D and BD bisects AE atC. By what method is AACB = AECD?

B

10. Find the sum of the interior angles of a heptagon.

11. For school, Jim must choose either a yellow shirt (Y), red shirt (R), or an orange shirt
(O) and jeans (J) or shorts (S). List the outcome set of the outfits he could choose.
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12. Determine whether each situation involves a permutation or a combination.
A. 6 books selected from a group of 1.
B. arrangement of 6 CD’s on a shelf.

13. Jane has 4 kinds of lettuce grovs}ihg in her garden, How many different salads can
she make using 2 of the types of lettuce?

14. Paula has 5__diff¢rent mix-ins to add to her ice cream. How many different ice cream
combos can she make if she wants 3 toppings on each?

15. Which of the following algorithms are equivalent?

L Given two lines, draw a transversal. If the alternate interior angles are equal,
then you have the answer you are looking for.

IL Given two lines, compare their slopes. If they are equal, then you have the
answer you are looking for.

HI.  Given two lines, compare their slopes. If they are negative reciprocals, then
you have the answer you are looking for.

16. In the figure, what point is collinear to ¥ and J?

—
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17. In the diagram, name a pair of congruent angles.
A

18. What is the complement of 37°? What is the supplement of 37°7

Complement: ‘Supplement:

19. Find the measure of LABC.

v

3x+5\Tx+25

4
>
=

20. Given ZRST = /OST and RS = 0S . Which postulate can be used to prove that
ASTR = ASTQ? .

21. Find the sum of the measures of the exterior angles of an octagon.

22. If AB=15and AC =31, find BC'.

A B C

Page 4
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23. What symbol is used to indicate the following:

A. two line segment are parallel

B. two line segments a perpendicular

C. two line segments are congruent

24. What word describes an angle

A. whose measure is greater than (° and less than 90°

B. whose measure is equal to 90°

C. whose measure is greater than 90° and less than 180°

D. whose messure is equal to 180° . -

25. Identify the hyp'othesis and conclusion of this conditional statement: “If fwo lines
meet 1o form non-adjacent, non-overlapping angles, then they form vertical angles.”

A, hypothesis:

B. conclusion:

26. The measures of two angles of a triangle are 43° and 56°. What is the measure of
the third angle?

27. The measure of a base angle of an isosceles triangle is 57°, What is the measure of
the vertex angle?
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28. Find the value of x. .

75° 20°

29, InATUV , msT =4x+6, mZU =x-5, andmZYV =3x+19 .. List the angle from

largest to smallest.

30. Choose the correct statement.
A mLl <mA3
B. mLl=m4L3
Comsl>mld o

e

31. Define the following terms:

A .Al_ti’.cud_e_ |
B. Median
C. Perpendicular bisector
32. If ZEIF = /FIG, then what is the best description of IF?
F
G
B I H g
33. IfmZABD = 35° and mZABC = 120°, findmZDBC. 5
B g
Page 6
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34. Given SQ bisects ZRST. Find m/QSR if m/TSR = 72°.

T

[
-

S R

35. Refer to the figure at the right to answer the following questions.

A. Which two pairs of angles are same side interior angles?
B. Which two pairs of angles are alternate interior angles?

C. Which four pairs of angles are corresponding angles?

D. Which four p'airs of angles are vertical angles?

36. Given a // b. Find m/4. 5 b

37. Ifa// band m/9 =4x + 12 and mZ£5 = 6x — 4, then find the value of x.
a
b
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38. Giventhat 4Bz DE and /A = /D.’ Nameé one additional pair of correésponding
parts that ieeds to be congruent in order to prove AABC = ADEF by SAS.

A C

39. Given AABC = AXYZ, AB = 17, YZ =24, and XY = 7x — 4. Find the 'Val}le of x.

40." List the properties of rédténgles.

41. WXZY is athombus. If XZ =15, then find OZ .

w X
O
Z L Y
42. Given: pérallelogram ABCD as marked. Find BC.
A 12 D
9
B C
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43. Fill in the blanks for the characteristics of a rhombus.

A. The sides of the thombus are.

B. The diagonals of the thombus are and

44. Given parallelogram LOVE, mZ0=9x~15and m/E =4x+6. Findm/V .
/ / |

45. If MATH is a square, findmZMTH .
M

A

H : T

46. ¥ill in the blanks for {he characteristics of an isosceles traiaezoid. N

A. The diagonals are

B. The bases are

C. The legs are

D. The base angles are

47. IF ABCDis atrapezoid with bases of 6 and 12, what is the measure of its median?
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48. Find the slope of a line passing through (-3, 7) and (5, -9).

49. Graph the line with a slope of 2 passing through point R (0,—5).

F 3

F 3
v

50.  What is the slope of the line perpendicular to a line with slopeg ?
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